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QUESTION 1

What are three reasons why you would choosean Active Form over other report styles? (Choose three.) 

A. When the user needs to drill down and drill up on rows 

B. When the user needs to drill down and drill up on columns 

C. When the user needs to suppress zeros 

D. When there is a need to dynamicallyformat cells 

E. When the user needs to move dimensions around the report 

Correct Answer: ACD 

 

QUESTION 2

Which three statements are correct about aliases? (Choose three.) 

A. Aliases must be unique within the dimension. 

B. Subset (user defined consolidation) cannot be the same name as an alias. 

C. Aliases can be used for alternative languages. 

D. There can only be one aliasper dimension. 

E. Aliases must only contain non-numeric string characters. 

Correct Answer: ABC 

 

QUESTION 3

A user would like to export data from a TM1 Web Cube View so that subsequent data changes on the TM1 server will
not affect the exported data. 

Which two export options should the user select? (Choose two.) 

A. Slice to Excel 

B. Snapshot to Excel 

C. Export to PDF 

D. Slice to Active Form 

Correct Answer: BC 
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QUESTION 4

What are three reasons why you would use Cognos BI Reporting rather than TM1 Web? (Choose three.) 

A. You must merge data from different cube sources. 

B. You require bursting of reports. 

C. You require different report versions. 

D. You require data entry capability. 

E. You require highlight capability for reports. 

Correct Answer: ABC 

 

QUESTION 5

A userentering numerical data into TM1 Application Web places a hold consolidate on North America with three
children: Canada, USA, and Mexico. At the time the hold is placed, the value of North America is $30.00, with each child
value set at $10.00. A user subsequently adds $10.00 to the value of Canada. 

Which statement is correct? 

A. "North America" increases $10.00, "USA" and "Mexico" remain unchanged. 

B. "North America" remains unchanged. "USA" and "Mexico" are reduced by $5.00 each. 

C. "North America" remains unchanged, "USA" is reduced by $10.00, "Mexico" remains unchanged. 

D. All values are on hold, so the add function is ignored. 

Correct Answer: B 
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